Escape Game Solutions

Enigme 1:1312; 6

Enigme 2: 9 tenues, multiplié par 2 et + 3 = 21

Enigme 3:

A.5000cL=501L

B.76 L =7 600 cL

C. 400 cL =40 dL

D.10dL =1L
E.6L =60dL
F.8 L =800 cL

G. 2500 cL =250 dL
H. 15 dL = 150 cL

I.3L2dL=32dL



Solution: 4

Enigme 4:

A.3m4c8d1lu=3481

B.2 000+ 500+ 90+ 3 =2593
C.(5x1000)+ (2x10)+7 =5 027
D.9c3u5mil1d=5913

E.70+ 5000+ 2 =5 072

F. (8 x10) + (2 x1 000) + (6 x 100) = 2 680
G.6clud4m=4601

Solution: 20

Code a taper sur le clavier du SAS: 4; 6; 20; 21



